
Shroud Covers 
(After 2/29/00)



Shroud Covers 
(After 2/29/00)

Item #'s 1-4 Shroud Covers

Item
Number Description Ocean

Blue
Emerald
Green

Liquid
Black

Candy
Apple
Red

1095406-NLA
 

1095407-NLA
 

1095409
 

1095408-NLA
 

Side Panel with
Rubber Bushing
(Captain & Sling

Seat) - Right
1

See Note(s) A See Note(s) A See Note(s) A See Note(s) A

1095410
 

1095411
 

1095413
 

1095412
 

Side Panel with
Rubber Bushing
(Captain & Sling

Seat) - Left
1

See Note(s) A See Note(s) A See Note(s) A See Note(s) A
1095390-NLA

 
1095391-NLA

 
1095393-NLA

 
1095392-NLA

 
Battery Cover

Ranger II Only -
16" W

2
See Note(s) B See Note(s) B See Note(s) B See Note(s) B

1095394-NLA
 

1095395-NLA
 

1095397-NLA
 

1095396-NLA
 

Battery Cover
Ranger II Only -

18" W
2

See Note(s) B See Note(s) B See Note(s) B See Note(s) B
1095398-NLA

 
1095399-NLA

 
1095401-NLA

 
1095400-NLA

 
Battery Cover

Ranger II Only -
20" W

2
See Note(s) B See Note(s) B See Note(s) B See Note(s) B

1095414-NLA
 

1095415-NLA
 

1095417-NLA
 

1095416-NLA
 Trunk Lid - 16" W3 See Note(s) B See Note(s) B See Note(s) B See Note(s) B

1095418-NLA
 

1095419-NLA
 

1095421-NLA
 

1095420-NLA
 Trunk Lid - 18" W3 See Note(s) B See Note(s) B See Note(s) B See Note(s) B

1095422-NLA
 

1095423-NLA
 

1095425-NLA
 

1095424-NLA
 Trunk Lid - 20" W3 See Note(s) B See Note(s) B See Note(s) B See Note(s) B

1088309-NLA1088309-NLA1088309-NLA1088309-NLA
Filler without Plug

Button
(Captain) (Black

only)
 - Right

4

1088310-NLA1088310-NLA1088310-NLA1088310-NLA
Filler without Plug

Button
(Captain) (Black

only)
 - Left

4

1088311-NLA1088311-NLA1088311-NLA1088311-NLA
Filler without Plug

Button
(Sling Seat) (Black

only)
 - Right

4

1088312-NLA1088312-NLA1088312-NLA1088312-NLA
Filler without Plug

Button
(Sling Seat) (Black

only)
 - Left

4

1096897
 

1096898
 

1096900
 

1096899
 

Color Conversion
Package,

Ranger II - 16" W
 

See Note(s) B, A, C, D See Note(s) A, B, C, D See Note(s) D, A, B, C See Note(s) A, B, C, D



Shroud Covers 
(After 2/29/00)

Item #'s 1-4 Shroud Covers

Item
Number Description Ocean

Blue
Emerald
Green

Liquid
Black

Candy
Apple
Red

1096893-NLA
 

1096894
 

1096896
 
 

1096895
 

Color Conversion
Package,

Ranger II - 18" W
 

See Note(s) D, A, B, C See Note(s) A, D, C, B See Note(s) A, B, D See Note(s) A, B, D
1096901

 
1096902

 
1096904

 
1096903

 
Color Conversion

Package,
Ranger II - 20" W

 
See Note(s) D, C See Note(s) D See Note(s) D, C See Note(s) D, C

1096913-NLA
 

1096914-NLA
 

1096916-NLA
 

1096915-NLA
 

Color Conversion
Package,

Excel - 16" W
 

See Note(s) D, C See Note(s) C, D See Note(s) D See Note(s) D
1096909-NLA

 
1096910-NLA

 
1096912-NLA

 
1096911-NLA

 
Color Conversion

Package,
Excel - 18" W

 
See Note(s) D, C See Note(s) D, C See Note(s) D, C See Note(s) D, B, C, A

1096917-NLA
 

1096918-NLA
 

1096920-NLA
 

1096919-NLA
 

Color Conversion
Package,

Excel - 20" W
 

See Note(s) B, C, A, D See Note(s) A, C, D, B See Note(s) A, D, C, B See Note(s) A, B, C, D
A - Decals not included.   See page titled, "Packaging, Literature and Decals." 
B - Captain seat shrouds in 18" wide only. 
C - Not Shown. 
D - Includes Items 1, 3, 5, 6, 8, 10, 16 and 17. 

NOTE:



Shroud Covers 
(After 2/29/00)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

See Chart Item #'s 1-4 Shroud Covers 1 11-4
1070587 Washer, Flat (3/16 x 5/8 x 1/16") 1 65
1028755 Screw, Phillips Pan Head (#10-32 x 5/8") 1 66

1089724-NLA NLA - Plug Button, Black 1 27
7930332-NLA NLA - Locknut, High Profile (#10-32) 25 18
1070594-NLA NLA - Bushing, Rubber 1 19
1070575-NLA NLA - Screw, SEMS w/ Washer (#10-32 x 7/8") 1 210
1088261-NLA NLA - Bracket, Shroud, Black - Right 1 111

1088262 Bracket, Shroud, Black - Left 1 111
1050161-NLA NLA - Screw, Hex Head w/ Patch (5/16-18 x 1") 1 312
1070577-NLA NLA - Plate, Trunk Clip 1 213
1070588-NLA NLA - Screw, Phillips Truss Head  (#10-32 x 1/2") 1 414
7930332-NLA NLA - Locknut, High Profile (#10-32) 25 115
1088497-NLA NLA - Fastener, Panel (5/8" W x 3/4" L) 1 116 C
1070555-NLA NLA - Fastener, Dual Lock (5/8" W x 2" L) 1 217
1070556-NLA NLA - Fastener, Dual Lock (1" W x 2" L) 1 218

1087172 Hardware, Side Panel Attaching 1 1A,B
A - Not Shown.  
B - Includes Items 5, 6, 10, 11, 12, 15, and 17.  
C - Sling Seat Only.  

NOTE:

 


